
 

 

Addition of 4 -Digit Numbers (With Carrying) 

 

Follow the steps to solve the addition of 4 - digit numbers (with 

carrying) 

Let us add 2434 and 1357.  

Step 1:  Add the ones and regroup.  

4 ones + 7 ones = 11 ones = 1 ten + 1 one 

Write 1 under the ones' column and carry over 1 ten to  

the tens' column. 

Step 2: Add the tens and regroup.  

1 ten (Carried over) + 3 tens + 5 tens = 9 tens  

Write 9 under the tens' column.  

Step 3: Add the hundreds and regroup.  

4 hundreds + 3 hundreds = 7 hundreds  

Write 7 under hundreds' column. 

Step 4: Add the thousands.  

2 thousands + 1 thousand = 3 thousands  

Write 3 under thousands' column. 

Hence, the answer is 3791.  


